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1. fu”du =Y +C (= —1).
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2. at _ ln‘u| + (.
U
3. fa.”du -2 +c (a>0,a =1).
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4, j edu = e" + (.
5. j sin udu = —cosu + C.

0. j cosudu = sinu + C.

7.f d?__j = tgu + C.

du

8.f — = —ctgu + C.
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sin” u

9. j sh udu = chu + C.

10. j chudu = shu + C.

11. f Wyt
ch? u

12.f au — —cthu + C.

sh? u



13.f ;du; :iln =%, c (a = 0).
ur — a? 2¢ |u+a
14. f _d“ = iﬂl‘CtU‘E—’- C (a = 0).
u2 —+ 02 a a
du
15. — In|u + V2 ia‘—l—O 'u|>‘a‘
Nu? + g’

16. —arc%111—+0 ‘u‘<|a‘

[

17. j tg udu = —111|coss u‘ + C.

18. j ctg udu = ln‘sin u| + C.

SIKIIO J)‘ )dx =F (x)+C, 1o g1s Oyab-skux cramux k Tab
. 1
}' (kx +b)dx = EF (kx+b)+C.

[ f (ke) dx = %F (kx)+C;

[ f(x+b)dx=F(x+b)+C.

‘e’f“dx:ée“+c (k —crana, k #0).

JCDS kx dx = %sinkx-i-c (kK —crana, k#0).



